	Test for factor year
	Test for factor month

	Analysis of Deviance Table

Model 1: no ~ year + month + offset(log(hour))
Model 2: no ~ month + offset(log(hour))
        Resid. Df Resid. Dev  Df Deviance  Pr(>Chi)    
1      4833     4090.8                           
2      4846     4749.0 -13  -658.24 < 2.2e-16 ***

	Analysis of Deviance Table

Model 1: no ~ year + month + offset(log(hour))
Model 2: no ~ year + offset(log(hour))
        Resid. Df Resid. Dev  Df Deviance  Pr(>Chi)    
1      4833     4090.8                           
2      4844     4583.6 -11   -492.8 < 2.2e-16 ***


	GLM 
	Residual deviance
	d.f.
	AIC

	No ~ year
	4583.6
	4844
	10027

	No ~ month
	4749.0  
	4846
	10188


	No ~ year + month
	4090.8  
	4833
	9555.8
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